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Note:

1. Do pot open this Booklet until you are told to do so.

2. Questions 1 - 15 are to be done on the OAS provided.

3. Read carefully the instructions given at the beginming
of each part of the Booklet.

4. Do not wasfe time. If 2 guestion is diflicult for you,
go on to the next one.

5. Check vour snswers thoroughly and make sure you
attempt every guestion.




QuesﬁonsltoS;anylmicm:h.Quesﬁons6ﬁoISomry2markseagh.

For each question, four options are given. One of them is the correct answer. Make your chome
(1, 2, 3 or 4). Shade the correct oval (1, 2, 3 or 4) on the Optical Answer Sheet.

1. Simplify2y x y-y-2+9.

(1) 2F-y+7
(2 2/-y-7
3) 27-7
@) 2%+7

2.  Thesolid shown in the figure below has ____ faces.

(1)
(2)
(3)
Q)

& LN =

3. Aminah had 40¢. Ben had $1.40 more than Aminah. Chitra had 20¢ more than Ben. The
ratio of the amount of money that Aminah had to the amount of money that Ben had to the
amount of money that Chitra had was .

(1) 1:4:5
) 1:9:5
(3) 2:4:5
(4) 2:9:10

4, David’s allowance is half of Sam’s allowance. Find the ratio of David’s allowance to their
total allowance.

(1 1:2
2 1:3
3 2:1
4 2:3



10.

Tom bought two correction tapes for $7. How much did he have to pay if he had bought 5
correction tapes instead?

(1) $15.00
(2) $16.50
(3) 517.50
@) $22.00

The area of a square of side 8w cm is cm”.
(1) 64wt
(2) 64w
3) 36w’
(4) 36w

The ratio of the number of Susan’s CDs to Fatimah’s is 3 : 1. The ratio of the number of
Dale’s CDs to Fatimah’s CDs is 10 : 3.What is the ratio of the number of Susan’s CDs to
the number of Dale's CDs?

(1 1:3

(2) 1:10
@3 3:10
@) 9:10

Kumar has 4m of raffia string. Zack’s raffia string is thrice as long as Kumar’s, What
fraction of the total length of string is Zack’s string?

M 3
@ =
@ 5
@ 5

0.7% express as a decimal is

1) 0.7
() 0.07
(3) 0.007
(4)  0.0007

‘May speat 80% of her money on a2 book. If she had $15, what amount of money had she
lef}? |

M $3
@ ss
3) %9
4) $12



11.

12.

13.

14.

15.

lf% of a pumber is 8, what is 150% of the numbr?

a 12
(2 15
3 18
4) 36

Study the figure below carefully.

S

What &ection of the figure is shaded?

?ngt'\w«c
(1) 163% v

@ 25%
(3) 37%%

4 50%

Mrs Tan and Mrs Lim made some pies. The number of pies that Mrs Tan made was 40%
that of Mrs Lim’s, If Mrs Lim made 24 more pies than Mrs Tan, find the number of pies
that both ladiesmad=.” -~ .. - .

(1) 40
(2) 56
(3 60
(@) 84

Peter weighs 60 kg. Sarn weighs 25% less than Peter while Mark is 50% of Peter’s weight.
Find their total weight.

(1) 105kg
(2) 1275kg

(3) 135kg
(4) 165kg

The volume of a cube is 512 cm”. Hs total surface area is

(1) 64

2 192
(3) 236
4) 384
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Questions 16 to 35 carry 1 mark each. Wme yomenswasmthespaceprovxded Gweybur
answers in the units stated. -

16. Muthu bought 7 sharpeners and 2 pencils for $8. If each pencil cost $x, find the cost of
cach sharpener in terms of x.

17.  Study the solid shown below.

Which of the following nets shows the net of the solid above?

A B i Gk

18. The pet of a cube is shown below. The square that is shaded is the base of the cube. Put an
‘X’ on the square that will represent the top of the cube.




19.

Meihua has a box of marbles. 3ofthebluemarblesisequaltolthenmnberofmd

marbles. There are 10 morc whne marbles than red marbles. If she has 112 marbles, how
many more white marbles does she lmve than blue marbles?

Anps :

20.

Mrs Tan divided somé starps among ber sons. The ratio of Ray’s stamps to Sam’s stamps
is 5 : 3. The ratio of Sam’s stamps to Ted's stamps is 8 : 15. Find the ratio of Ray’s stamps
10 Sam’s stamps to Tedd’s stamps in the simplest form.

21.

Tim walked 3 times round a rectangular field measuring 65 m by 40 m. If he walked at a
rate of 15 metres per minute, how long did he take?

22,

In the year 2003, the ratio of the number of boys to the number of girls in Red Swastika
Schoo!l was 3 : 7. One year later, 40 mare boys joined the school and the ratio of the
pumber of boys to the number of girls became 10 : 21. How many boys were there at first?

—

7



23. The ratio of the mumber of fighting fish in Tank A to Tank B was 2 : 5. When some
fighting fish in Tank B died, the ratio of the number of fighting fish in Tank A to Tank B
became 3 : 5. If there were 42 fighting fish at first, how many fighting fish died?

24. The ratio of the nmber of sweets Ravi had to the nomber of sweets that Irene had was in
the ratio 3 : 8. When Irene gave Ravi 15 sweets, they hed the same sumber of sweets. How
many sweets did Ravi had at first?

25. Stndy the diagram below carefully.

wislel

Find the ratio of the shaded part of the figure to the unshaded part of the figure.
Express your agswer in the gimplest form.

Ans :

26. 60% of a number is 168. What is the numbex?




27. ExpmssS%%asadecima!.

28. Howmanymoresqumashouldbedmdedmthﬂtbembﬂofshadedsqumsmﬂ%of
thatotalmmberofsquares? -

Ans:

29. There are 20% more dogs than cats in the SPCA, How many cats are there 1f60 of the
animals are dogs?

——

30. Find the value of 28% of 4 kg.

Ans: kg

—

31. The average of 4 numbexs is 12. If three of the muwbers are 7, 8 and 20, findAfomlh

P4



32. Evaluate (47 +37)+4-3x2,

Ans :

33, Find the vohume of & cube if the area of one face is 16 cm?.

Aps: ] an’
33,  Amange the following decimals in ascending order.
0.10, 0.095, 028 0.101 o
Ans: __ -
35. What is the missing number in the blank below?
6.5x12=64x 12+ x12
Ans :

10



For Questions 36 to 50, showyourwuhngsclﬁﬂymﬂwspaoebelowmhtpmmonmd write
yo\xanswersmthespacepmﬁed :

The number of marks for each question is shown in brackets [ ] at the end of each question or
part-question.

36. Ron bought himself a soccer ball, a basketball and a shoe bag. The soccer ball cost
Z%ﬁmcsasmnchasabaskemaﬂ.TMmﬂoofﬂmcoaofthuahoebagwthewstoftbe

soccer ball was 3 : 10. If the total cost of what he bought was $136, find the cost of the
soccer ball.

Ans: 2]

37. For every 3 white roses that a florist had, she had 4 red ones. For every 9 red roses that she
bad, she had S pink ones. If she had a total of 249 roses, bow many red roses did she have?

tl

7



38. 30% of Amy's moncy is equal to 40% of Gina’s money. If Gina has $50 less than Amy,

how much does Amy have?

Ans: {2}
39. Square A has a side of g cm. The area of Squarc B is 6 cm” less than that of Square A.
gem Square A Sq;re
(a) Find the area of Square B in terms of g.
(b) If q=8, find the area of Square B.
Ans: (a) I A |
Ans: (b) _1]

'Y . %

12




40. Sarali speot 3 of ber money on @ skirt aud & blouse. Hor kit cost twice as much as hor
blouse. She then had $96 left. How much did she spend on her blouse?

Ans :
31

41. The figure below is not drawn to scale. ABCD is a parallelogram and XCB is an isosceles
triangle. XD is a straight line. -
A

20°

D

(@  Which angle is equal to ZBCD?
(b) Find £CXD.

Axs : () m

Ans : (b) _ [2)




'ﬁ Janice had some buttons. For every 9 white butions that she had, there were 4 yellow
buttons. After she used Bhwhite buttons for a akirt, the ratio of white buttons 1o yellow
buttons became 3: 2. How many buttons were left? "

Ans: . . [4]

43. Pemrgivcshispumtsw%of]ﬁsmomhlysamwke@sﬂxemaindafmlﬁmsclilf
he spends 80% of his remaining salary and saves $180, how much does he give to his
parents? | e

Ans: L - [4]

L




44. There are 3 tanks, each containing some water. Taok X hes 40% more water than Tank Y.
Tank Z contains 75% of the amount of water in Tank Y. The total volume of water in tanks
Y and Z is 350 ml. What is the volume of water in Tank Z?

\9



45. .Tap A can fill up a pond in 4 hours while Tap B can fill up the same pond in 6 howurs.
@) What fraction of the pond can Tap B fill in ! hour?

(6)  If both taps are turned on ai the same time, how long will it take for both taps to
fill up the pond? (Express the time taken in hours and mibutes.)

Ans:(a) [1]

Ans: (D) , [31 -

13




45. The diagram below is not drawn to scale.

v

(8)  Find the area of the shaded part.

(b) Find the area of the unshaded part.

Ans : (2) [2)

Ans : (b) _I2]

oL



47. A rectangular tank contains water to a height of 5 cm. 18 cubes of volume 64 cm® each
wete placed in the tank and were submerged in the water.

The ratio of the length to the breadth to the height of a tank is 5 : 2 : 4 regpectively. The
perimeter of the base of the tank is 84 cm.

(@) What is the volume of the tank?
(b) What is the height of the water level after the 18 cubes have been put imto the tank?

Hns : (a) . 12]

Ans: (b) [3]

'8

1§



48. There are some pencils in Boxes A, B and C. The ratio of the number of pencils in Bax A
to that in Box Btothat in Box Cis 2 : 3 : 6 respectively. When 4 pencils wese
trensferred from Box C 10 Box B, the ratio became 4 : 7 : 11, Find the total number of
pencils in the 3 boxes.

17



49; Annbookbdatoupackageaxadlsmntofﬁ%fmms Ken booked the same tour
package at a travel feir and was given a discount of $980.

(2) What was the percentage discount given to Ken?
(b) What was the difference in the percentage discount given to Ann and Ken?

Ans: (a) . [4]

Ans : (b) 1]

18



50. In Jamuary, 30% of the 40 pupils in the Botany Club Wlrgirls while the rest were boys.
When a few girls left the club in June, the percentage of girls decreased to 20%. How
many girls left the Botany Club?

~ Please check your work carefully ~
End of paper

10
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1 25)
2) 2 26)
3) 4 27)
4) 2 28)
5) 3 29)
6) 1. 30)
7) 4 31)
8) 1 32)
9) 3 33)
10) 1 34)
11) 3 35)
12) 2 36)
13) 2 ——— 37)
14) 3 38)
15) 4 39)
16) (8'§x?
17) A 40)
18) 41)
aﬁ

42)
19) 16 marbles 43)
20) 40 : 24 : 45 45)
21) 42 45)
22) 360 boys
23) 10 fishes 46)

24) 18

1 : 3 47) &) 8640 cm>

280 b) 8.2 cm

0.085 48) 88 pencils

6
49) a) 28%

50
b) 3%

1 kg 120

8 & 50) 5 girls
13
15

64

0.095, 0.10, 0O.101, 0.28

0.1
$ 80
108 red roses
$ 200
2 2
a) (g©- - 6) cm

2
b) 58 cm

$ 8
a) Angle DAB

b) 100°

30 buttons

$ 600

150 ml

a) 1/6

b) 2 hour 24 minutes
a) 96 cm?

2
b) 54 cm

12



